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(1) ZdhfRE(v) YTHOEREICEY v = 10 %
(2)E A58 (m)
ar= 05 = 1.214 ar= S ooy = 1250
100 100
m = a2 X SL = 1.250 X 24 = 30.0 N/mf
k->T m = 30.0 N/mf
(3)KkEAV FEE(W/C) m = -18.2 + 27.7 X C/W
W/C = 27.7 = (30.0 + 18.2) X 100 = 57.0 % = [60% (_-BRfE) ]
SW/C = 57.0 %
(4) Bk & (W) YTHOERICEY W = 157 ke/m
(5)HfrE A F&E(C) C =W + (W/C) X 100 = 157 = 57.0 X 100 = 275 kg/m
Cv= C + EF = 275 + 3.04 = 90 1/m
(6) 255 (A) A = 4.5 % X 1000 = 45 1/m
()M EER(s/a) éi%@%ﬁﬂ LY s/a = 42.2 %
(8)HNTHIFME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 708 X 42.2 % = 299 1/m
Slv = Sv X 70.0 % = 209 1/m S1= SIvXEWEE = 209 X 2.56 = 535 kg/m
S2v = Sv — Sy = 90 1/m S2= SoyXKWBEE = 90 X 2.65 = 239 kg/m
(9) HALHE#M £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 591 = 409 1/t
Glv = Gv X 50.0 % = 205 1/m Gl= GlyXEWEE = 205 X 2.73 = 560 kg/m
G2v = Gv X 30.0 % = 123 1/m G2= G2yXRTWEE = 123 X 2.73 = 336 keg/m
G3v = Gv—GIlv—G2v= 81 1/m G3= G3vXKEEE = 81 X 2.73 = 221  kg/m
(10) A RFfAE (ADAdL = C X BIIE X BE = 275 X 0.8000 % X 1.04 = 2.29 ke/m
Ad2 = 2.49 kg/m
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